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27
1. The numerator in the fraction -7 is

(i) 7 (ii) 8 (iii) O (iv) 28 (v) 27

17
2. The denominator in the fraction § is

(i) 0 (i) 17 (iii) 4 (iv) 18 (v) 3

3
3. The integer part in the fraction9 1 is
(i) 9 (i) 3 (iii) 5 (iv) 4
. 4.
4. The reciprocal of9 is

(i) E (i) 9 (iii) 41 (iv) 3-1 (v) 1-1
4 4 4 4 4

1
5. The additive inverse of 3 is

M1l Gy 2y i 3 (iv) 0 (v)
3 3 1 1

1
6. The multiplicative inverse of-7 is
(i) 8 (ii) 5 (iii) 1 (iv) 9 (v) 6
. .23
7. The numerator in the fraction -7 is
(i) 0 (ii)) 8 (iii) 7 (iv) 23 (v) 24

28
8. The denominator in the fraction ? is

(i) 4 (ii) 0 (iii) 29 (iv) 28 (v) 3

1
9. The integer part in the fraction10 -3 is

(i) 1 (i) 4 (i) 3 (iv) 2 (v) 10
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The reciprocal of-5 is

M > (i) 32
3 3

The additive inverse of ( 5

(i) 2l (ii
i 2 i)

(iii) (-3

2

(iii)

)

-7

(iv) 2

) is

3
The multiplicative inverse of-8 is

M 32 i) 12
3 3

of351is

(i) 327 (ii)

297

8 .
of is80
3

(i) 20 (ii) 15

19
Convert -
12

(i) 1 9 (i)
10

Convert1l

(i) > (i)
2

3
1
4

17

(iii)

(iii) 40

(iii)

(i

(iii)) 1 >
14

(iv)

Identify the properfraction

7
(i) (i) 9-

3

17
18

(iii)

2

1
3-
2

(iv)

(iii) 312 (iv)

v) 30

to mixed fraction

(iv)

7
0 to improper fraction

19
10

(iv)

Identify theimproperfraction

(i) - (i) 8 !
2 16

(iii)

1
3.
3

Identify the mixedfraction

(i) 12-2 (ii
i > i)

(iii)

15

(iv)

2 (v)
3

(v)

322

2
4°
3

(v)

(v) 45

7
1
12

(v)

17
10

(v)

19
12

(V)

1

302

5
(v) 1-

12
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130
The simplest form of the fraction 508 i

(i) > (ii) > (iii) > (iv)
8 8 6

(v)

S

Which of the following is a unit fraction?

(i) 7'5 (ii) : (iii) = (iv)
) 75 (i) o5 (i) o (v

11
2.
13

(v)

Which of the following is a decimal fraction?

(i) 10 g (i) L (iii) ° (iv) 13 > (v) =
i i iii iv v
19 17 10 19 2
Which of the following is a decimal fraction?
(i) Y (ii) ’ (iii) (iv) 19 ! (v) 15 >
i ii i) - iv v -
6 5 100 3 7
Which of the following is a decimal fraction?
(i) (i) e (iii) > (iv) 17 ! (v) 11 2
i) - i) - i) iv = (v :
1000 15 16 2 13
Which of the following is a decimal fraction?
(i) ! (ii) 19 (iii) 8 4 (iv) * (v) 16 1
i ii iii iv v
4 5 10000 13
Which of the following is a vulgar fraction?
(i) 8 (i) ! (iii) > (iv) 2 (v) :
100 10000 10 8 1000

Which of the following is a complex fraction?

2
(i) 2 (i) (6) (iii) 18'1 (iv)
g iii 3 (v
8

19
5

(v)

1
19-
5
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